R | i ?

S\

, e E B

I

S ST BTS SIEC T

3 &

R R STEL RN

(a) 12345,. a,=n

(b)  1357)9,.. a,=2n-1
(c) 246810.,.. a,=2n

(d  1-11-11.. a, =(-)"*
(e) 1491625,.. a, =n’

(f)  2612,20,30,... a, =n(n+1)
(g) 111111111111111,... a, = 10”9_1

SN ehx o * o

#Rfe S =a ta, ta, t..ta, SIEF
S=a * a,=5-S§, (¢ n22)

(I Sk S L

(a)

1+2+3+...+n:%n(n+1)
(b) 21°+2°+3°+..+n° =%n(n+1)(2n+1)

(c) 2+2°+3+..+nd :[%n(n+1)]2 :%nz(n+1)2
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gt?ll 1, 2, 2, 3, 3, 3, 4, 4, 4, 4, —e 1% 1000 IET?—\)%”) 2
n(n+1)

EK#crenyk 1000 55 n oo B > < 1000
n’+n-2000 < 0
= n —_1+m
2

d ¥ 89<4/8001<90 » #714 n = _1;89 - A4 -
FT IR E
(a) i(i2 +1)

=
(b) i|:L(i2 -1
(a) Zﬁl(i2+1) = (4% +) +(5° +1) +(6° +1)

h = 17+26+37 = 80-
(b) f|(i2 -) = (42 -1)(52 -1)(6% -1)

- = 15%x24x35 = 12600 -

¢ ir 1+2+43+...4+1998+1999+1998+...+3+2+1 R i~#Hks: P > £ P
g - (HKMO 1999/2000 - & + )

R ezt = 2% (% %1999 x 2000) —1999
1999 x (2000 -1) = 3996001

éf( P:lo

X3 1x2x3+2x3x4+3x4x5+ ... +10x11x12=a > & a “IiE
(HKMO 1997/98 ;‘i—;% )

a = % (10@DHa2)13 = 4290
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5. R e e

RN I
(12),(22,32,42),(52,62,72,82,92),...

Fo 43t - FP 4T A F B
0 FROFERL-BAAHDLIR T Fent S

d 3t

36<43<49 >

9 4 Y
‘P~§'§>"ff' =

Fog 1 £02 )

(a) 212+22+3+..+40°
(b) 22 +47+6%+...+40°
(c) 1°+3°+5°+..+39°
5 (@) R& - 40(40+é)(80+1) _ 99140 -
(b) R = 4(1% +2° + 3% +...+ 20%)
_ 4x[20(20+€15)(40+1)] 11480 -
(c) Ry = 22140-11480 = 10660 -
6. Fo 1x2x4+2x3x5+3x4%x6+...+n(n+1)(n+3) -
£ RN = D k(k+1)(k+3) = Dk +4k? +3k
k=1 k=1
= D KE+4> k2 +3> Kk
k=1 k=1 k=1
2
_ n(n+1) +4xn(n+1)(2n+1)+3x n(n+1)
2 6 2
n* n* n* 4n® , 2n 3n° 3n
= —_—t—t—F+—+ 2N —+ — + —
4 4 3 2 2
= %(Bn“ +22n° +45n* + 26n)
_ n(n+HY(n+2)(3n+13)
12
GL: WA PBERF ERF T8 )
1. Bep R¥cenT 2 At cn@ies) > R T F n 3 o2n-1 BAF ) R

#o 43 wrhch- #Ed 377 3 497

3(49)(49 +1)(98+1) - % (3737 +1)(74+1)

3(49)(50)(99) - % (37)(38)(75)
40425 -17575 = 22850
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FA554 % 6, 66, 666, ..... g n IE e e

Bfe = 6+ 66+ 666 +... = 6(1+11+111+..)
10-1 10*-1 10°-1 10" -1
= 6( + + +..+ )
9 9 9 9

= Z(10+102+103+...+10")—%

) 2,10"-1 . 2n
B 3(10 1)( 0
= E(lO”—l)—?

o i 43t 10000 A Ec T T LA A Az AT EFlhR A o R
n ko) B e
K= BaFrFERE (X-1,x(x+D -
=® (x-Dx(x+1 > 10000

x® - x > 10000
4 » [10000]=21 » szEB x=21 5 21x22x23=10626>10000 -
#= n=10626 -

F# 64 A AL B D el 0 BG5S a4
o TRt B L - Beado) B oo
d 1+2+3+...+1O:10—211=55°

B4 crfodfot NARE Qo tod 9 A4 AN R E I

2e 9 = 9 = 1+8 = 2+7
= 3+6 = 4+5 = 1+1+7
= 1+2+6 = 1+3+5 = 1+4+4
= 2+2+5 = 2+3+4 = 3+3+3
= 1+1+1+6 = 1+1+2+5
= 1+1+3+4 = 1+2+2+4
= 1+2+3+3 = 1+1+1+1+5
= 1+1+1+2+4 = 1+1+1+3+3
= 1+1+2+2+3 = 1+2+2+2+2
= 1+1+1+1+1+4 = 1+1+1+1+2+3
= 1+1+1+2+2+2 = 1+1+1+1+1+1+3
= 1+1+1+1+1+2+2 = 1+1+1+1+1+1+1+2
1+1+1+1+1+1+1+1+1

SE 20$é&#%"k—oﬁ‘5ﬁ:‘ﬁklﬁﬁrﬂ&.‘E; 10+1=11-
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(@ i b i+ () 22
i=1 i=1 i=1 j=1

10 10 | 10 10 2

(d) l._1|| (e) Hm () ””J

'"_ dr 5 Ei l r’T’hﬁ’ I8~ \ .
(a) 3, 5, 17,09, 11, (b) 3, 8, 13, 18, 23,
(c) 11, 102, 1003, 1004, 10005, --- (d) 1, 2, 4, 8, 16,

vcrl{a ) »a =102 [[a=n"> fa+a;+a; id -

1=1

A —i‘r’ﬁ;:?lj{an} ¢ a=12% ia' =n? .}\a1+a3+a5 g o
1=1

F 100* -99° +98° —97° +96° —95° +...+4* -3* +2° -1% -

Mt 50 BI AApEenD Bl iz fod 2010 FF P B - B A
n:fon kTR E . B3R 2010 A~ FY =)

7\ #ic 7| mﬂfr :
(a) 1+2+3+...+100 (b) 12+22+3%+..+100°
(c) 2¥+2°+3+..+100° (d) 2+4+6+..+100
(e) 22 + 4% +6° +...+100? (f) 1+3+5+...+99

(g) 17+2°-3*+4%*-5%+..+100°
(h) Ix2+2x3+3x4+...+99%x100
(1) 1x2x3+2x3x4+3x4x5+...+99x100x101

¢ aris|iha n Bics S 0 KT AESUE A Q¢
(a) S,=n (b) S, —4n? —n+2
() §,=3"-2 @ s, =%

2 R=1x2+2x22+3x2*+..+10x2° » & R ehig
(HKMO 2006/07 ii—% & 48 )
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%\I /‘.I.
=S
10
1. (a) i = 1+2+3+..+10 lgi%gig
i=1
10
(b) D+ = 5x6+6Xx7+7x8+..+10x11
i=5
= 30+42+56+...+110
= 400
10 10 10
© DD = D i(l+2+3+..+10)
i=1 j=1 i=1
10
= 55) i = 557 =
i=1
10
(d) []i = 1x2x3x...x10 = 10! =
10 5 6_7 10
(e) — = XXX, X =
E]|-+1 6 7 8 11
10 10 i2 10 i2 i2 i2 i2
f — = —X—X— X, X— =
() Dl:lj ,:(123 10)
120 220 320 1020
= X —X——X..X =
10 10 10 10
— (10)10
2. (a) a,=2n+1 (b) a,=5n-2
(c) a,=10"+n () a,=2""
_1\2
3. a1><a2:4’a2:4;al><a2><a3:9’a3=g;an=(n 21) °
n
. _16 4 16 469
1] a5_£ o AP a_:|.+a,°,+a5 =1+—4+— = — o

9 25 225
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3025

3628800
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110
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ata,=4°a,=3; a+a,+a,=9> a,=5; a,=n*-(n-1? -
“rl g, =25-16=9 - T a +a,+a, = 1+5+9 = 15

Ry = (100 - 99)(100 + 99) + (98 — 97)(98+ 97) +...+ (2-1)(2+1)
- 100+99+98+..+1 w
= 5050
£ n+(n+)+(n+2)+...+(n+49) < 2010
(n+n+49)x50 < 2010
5 <
25(2n + 49) < 2010
n < 15
% n=15>
15+16+17+...+64 = 1975
T 15+16+17+..+(2010-1975+64) = 2010
15+16+17+...+99 = 2010
den box T EL 150
(a) 1+2+3+..+100 - %204-1) 5050
(b) 12 +2%+3?+...+100? = 100(100+1)é2x100+1)
= 338350
() PB+2°+3+..+100° - [%goﬂ)]2 50502
= 25502500
(d) 2+4+6+..+100 = 21+ 2+3+...+50)
= 2xw 2550
2
(e) 2°+47+6°+..+100° = 41 +2° + 3% +...+50%)
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4 50(B0+1)(2x50+1)
6

171700



(f) 1+3+5+...+99
= (1+2+3+..+100) - 2(1+ 2+ 3+...+50)
_ 100(100+1) 9 50(50+1)
2

= 5050 - 2550
= 2500
(2) 17 +2% -3% +4% -5% +...+100°
= 1 +(2+3)(2-3) +(4+5)(4-5) +... + (98 +99)(98 — 99) +100°
= 10001-(2+3+4+...+99)
= 10002-(1+2+3+...+99)
99(99 +1)

= 10002 -

= 10002 - 4950
= 5052
(h) Ix2+2%x3+3x4+...+99%100
= Ix(1+D)+2x(2+1) +3%(3+1) +...+99% (99 +1)
= (L+2+43+...+99) + (17 + 2% + 3% +...+ 99?)
99(99+1) , 99(99+1)(2x99+1)

2 6
= 4950 + 328350
= 333300
(1) 1x2x3+2x3x4+3x4x5+..,+99x100x101

= Ox1x2+1x2x3+2%x3%x4+3x4%x5+...+99%x100%x101

= I-Dx1x(A+D) +(2-Dx2x(2+1) +(3-1)x3%x(3+1])
+...+(100-1) x100x% (100 +1)

= 1x (1?7 =1) +2x (2% -1) +3%(3° = 1) +...+100x (100* - 1)

= (1*+2°+3°+...+100%) — (1+ 2+ 3+...+100)
100(100+1),, 100(100+1)

A L

= 25502500 - 5050

= 25497450
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(a) S§,=n
a =
al =
g 3

Sn - Sn—l

n*-n*+3n>-3n+1=

13

(b) S,=4n’-n+2

a =

n

&

3 e g, ot &R an:{

() S, =3"-2

L
|

3 e g, eyt R an:{

@ s,=
n

Q
I

d s

Sn - Sn—l

n®-(n-1)°
3n?-3n+1
1

a e a st P a =3n"-3n+l-

4n® —-n+2-4n-D*+(n-1D-2
4’ -n+2-4n>+8n-4+n-1-2

8n-5
40)° - +2

a *FE a Moo
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5
5 n=1
8n-5 n=2
3N -2-3"1+2
2x3n—l
1
1 n=1
2x3" pn>2
i1
n n-1
-1
n(n-1
1
1 =
a,=1_"1 55
n(n-1



R = (2+2°2+2°+.. 42+ (22 +2° + 2" +...+ 2Y)

+..+2°
= 20142422+, +2°)+2°(1+2+ 2% +...+ 2%)
+..+ 2% (1)

= 22° -1 +2°(2° -1 +...+ 2"°(2-1)
— 211_2+211_22+ +211_210
= 2" x10-21+2+2° +..+ 2%

= 2Mx10-2(2°-1) = 2Mx9+2
= 10434
[ERE I

2R = 1x22 +2x 22 +3%x 2% + ... +10x 2"

R-2R = 2+2°+2°+ .. +29-10x2"

-R = 2(1+2+2° +...+2°) -10x 2"
- 2(2° 1) —10x 21

R = 10x 2" -2 + 2 = 10434

B2 BB T 5P s Wi R

(Avistotle 284 be-23200)
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